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6. @S- T 100

swmﬁw#m#?—s

[121/32?]

This question booklet is divided ing,

WUE-37 U5 |ua-g) two sections — Section-A4 gpy
Section-B.

frrd @ frdf so mwa @ I
M afErt & (v & R

go7 & 6.

In Section-A, there are

100 objective type questions, out of
which any 50 questions are to pe

I
f

) answered ( each carrying 1 mark) 3

1 3% iR ?‘).r TErg & SE First 50 answers will be evaluateg (

gy & I 7 W gym 50 IRl by the computer in case more thqn /
T &l G FEGST FRT faar 50 questions are answered. For

STIQT | TRl 3T FT IgeTE FE 7 answering these darken the circle (

OMR IR-73%F d RF 73 ggt et

with blue / black ball pen against

the correct option on OMR Answer
Sheet provided.to you. Do not use
whitener / liquid / blade / nail

I et / F ater 9T T TR
B &5t st g & zZameTT /

T Wl /  ®T / YT MT  etc. on OMR-sheet, otherwise the
FT IT-iasT & wahT Fvar oy result will be treated invalid.

& or=ger TAAT Ry STy

ghr

7. WYZ-§ H 30 7Y I WIT § 7.
e @ gt 15 woat &1 sav
Fw afvard @ (v % P
- 23%F [HiRT &)1 T Afifw, =@
Gvs § 8 T Iwvw wvw 7
8 i @ Rt 4 vt @7 sav
3T & (7% & R7T 5 3% FyiRe

&)/ https://www.bsebstudy.com

8. 3! TP & FARIAH ITFT FT g,
TFIT qoferar S & |

In Section-B, there are 30 short
answer type questions, out of
which any 15 questions are to be
answered (each carrying 2 marks).
Apart from these, there are 8 !ong
answer type questions, out of _
which any 4 questions are to be
answered (each carrying § marks).

Use of any electronic appliances is
strictly prohibited.

-
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WY - 3 ; gECTION - A
TS v g Objective Type Questions
gy wear 18 100 7% & 7vT & wrer e e w17 & o @ v it 4
&#somﬁ*méfmmg#waﬁﬁm#omvﬁzw%@w
FI 50 x 1 = 50

Question Nos. 1 to 100 have four opﬁons, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the
OBJR ‘sheet. 1 . 50x1=250
|,  a@h y=2x"+3sinx ¥ x= 0 oyt Y@t & a2

1
@ 3 | ® -3

© 3 - © -3

The slope of the tangent to the curve y —2x° +3sinx at x=0is

By 3 - ® -3
© % © -3
2. t{ﬂ?'gﬂﬁﬁwraacmqtr%mﬁaémﬁwﬁaﬁqﬁa
(cm?/cm H) 8
A) 10 . B) 12
© "8n D) 1l=

The rate of change of the area of a circle ‘with respect to its radius

r (incm?/cm)atr=6cmis

(A) 10=m : (B) 12=
(C) 8= _ (D) 11m
o 24/ A/ X11-5001-(34/40) Page 3 / 32
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(12173,
If2 wed A s pEEE @ A
A} P(ANB)=P(A)P(B)
(B) P(AUB)=P(A)+P(B)-P(ANB)
(C) P(AUB)=0 |
(D) | P(ANB)=P(A)+P(B) '
If events A and B are independent thcn
(A) P(ANB)=P(A)P(B)
(B) P(AUB)=P(A)+P(B)-P(ANB)
(C) P(AUB)=0
(D) P(ANB)=P(A)+P(B)
52 el 6 w19 H T T ¥ T AEAE e B sfiwar 3

@ 5 -
© =5 . oo %

The probability of drawing a king from a pack of 52 cards is

& ol &
© = | o 1

P(A)=% P(B)- P(AﬂB]_—:P[B/A)—

w 2 B 3

r e

© 3 o &
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6w ol ® 10 I IO Sy ) v w: R 3 Y v B

oc (L y 0. (1Y -
(Al 6{2 (B) Cn(‘g")
71\8 10
10 1
@ "%(3) © G(3)
A coin is tossed 10’ times, The probability of getting exactly six
heads is
: 6 g
10 1 O {1
(A) Co (5) _ B '°Cs k'j') ,
8 10
10, (1 15 1
© “c(3) D °c(3)

7. P(A)= 11, P(B]-ll, P(AUB]--—: P(AﬂB)-

B 11 B T
(€) % | ' D) "12i'
8.  xy-ad & Gt &
(A) x=0 B) y=0 ‘
© z-0 o) wHawdE
The equation of the xy-plane is |
W x=0 o B) y=0
(C) z=0 (D) none of these
9. zamE fag-wrand &
A) (1,0,1) (B (0,0,1)
(€} (0,1,0) (D) (0,0,0)
o 24 /A [ XI1-5001-(34/40) Page 5 / 32
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10.

11

12.

13.

_ [121/327)
The direction cosines of z-ax18 arc
A (1,0,1) JB (0,0,1)
© (0,1,0) D) (0,0,0)
frgatt (4,3, 7) 3 (1,-1,-5)FdHH 2
(A) 13 (B) 15
© 12 D) 5.
The distance between the points (4, 3,7)and (1,-1,-95)1s
@y 13 (B) 15
© 12 D) 5

I(x+cc132x)dx =
(A) lJr:s:.inQJnc+-1—cnc:us:;z:vc+c:: [B) -;—x

sin 2x—lcos 2x+cC
2 4 4

2 2 :
(C) 2xsin2x+4cos2x+c (DL ’¢2+$11"22x +e

alf X

e” isin 1x+-—————-} dx =
I { - Jl—:vc2
(A) ~ L - @, eX.sin x+c

Yo P :

(C) € ive (D) e*.costx+e
J’ dx__ _ .+

x(x+2)

I
(A)  log ""-_ e B) o8l x+2 (e

) loglx|+c ‘D) loglx+2|+¢

' Page 6 /
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14,

15.

16.

17.

18,

Iﬁﬁdx:

XJa? - x? dx

A 2
2
a_ginlX

2 2 a2 -1 x

x - - .
(D) — X a "'§—Sln -a-+c

2
x/2
Isila7de=
-n/2
@ -1 .«
© 1 | ‘O 2
Jx_ dx= .
z7x+ja~x
(4) ad S | 3
©) 2a ® 3a
r/2 i
Icos-zxdx-
0
NS - (B)
© -1 B 4
/6 : |
fcosx.costdx=
3 |
W s/ = e
(C) 5/12 ©) -5/713

[121/327 |
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[ 121}'327|
19. _It&n xdx =
CVIEES Bl. o
< 2 D) -2
2 [
0. -
Iz
( 2 (B) =n/6
C) =n/4 (D) =n/2
21. cos 1(—-1-] = (©,n] A ._7)}.
2 | 'z
By F ®) 3
LY . n
(C) 6 (D) 3
22. xe[-1, 1],cos'x =
(A)  S-cot™x B) Z-sin”x
© Z-tanx D) Eosecx
23. xe[-1, 1],sin” (-x)= |
Jay~ -sin” x B) sin'x
(C) —cos™'x (D) cos™' x
24. cosec ‘x= vv o X&) or€=1.
(A) sin” x ' \.[B"/ Bil’l_l-i-
(C) cos™ x - (D) cos_lslcﬂ-
24/A/XI1-5001-(34/40) Page 8 /3
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25.

26.

27.

28.

29.

30.

[ 1217327 ]

4 1 -1 1
tan| tan 3+tan _2_,}=

tﬁrf : B) O
c) 2 o) 3
sin[cot*l x)=
(A) 1+x2_ B) g
© (1+x?)7 - 1

' 1+.1tc2
ms'%cos%):
~ 7n o
A & B 7

]t [ A
@ 5 . o) £
n af 1Y
i [‘5)- |
27

@w o B 5
(C) ;— D) =
tan_lﬁ—-sec_:[-—-'zj= |
w -3 @ 3
o DT
Wmﬁlqgﬁﬂ N # R={(a,b):a=b-2,b>6} 2 Wed ey R 2
frforfan & wl@t I 2
(A) (6, 8)eR B) (2,4)eR
(C) (3,8)eR I(Dl (8, 7)eR

Page 9 / 32
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Let R be the relation in the set N given by R=((a,b):a=

[121;327,l

bﬁzsbbﬁ} |
The correct answer in the following is bsebresult.in
(A) * (6, 8)eR B) (2 4)eR
(©) (3,8)eR D) (8,7)er
31. j dx _
a? +x?
&) Ltanl2.c (B) tan'X .
a X a.
@V,%m"1§+c (D) ..};;an—lﬁc
32. Iscc xdx =
By log|secx+tanx|+c (B) . log|secx~tanx|+c
(C) logsecx +c (rj, tan® & 4.
33. Isecs x tahxdx ="
(A)  Stan’xtec (B) %secs X +c
@ Skglessxi+e D) tanSxe+c
34. Itan2 de =
W tEnXexag (B tanx-x+c
5 eatxenneg (D) cotx-x+c
35. cos2x — dx =
‘[0052 x .8in? x
il (B) tanx-cotx+c
i (D) -tanx+c -
24!&/’(11-5001~m:401 Page 10 /3
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36. Ji.é.-}:- dx =
3
(A) 53_"“’ (B) -‘Zc;-—x+2tan"1x+c
<) 2tan” x +c (D) -"—E;+x+2tan"' x+ce
37. H%% dx =
() tanx+c (B) tanx+x+c
&y tanx-—Xx+c (D) -tanx+x+c
8 |75 -
(A) —3log|2-3x]| +e (B) —-é—log| 2-3x| +c
(C) -—log|2-3x|+c (D) 2tan’lx” + ¢
» Fo
(A) tan™" x‘}. +c ; (B) 4tan”t x* +c
cr %tan_1 x4+c‘ - (D) 2tan”! x* +c
40.  [xe*dx =
A) e +c B) x-l+c ‘
(C) e*(x-1)+c (DF e (x+l)+c
41 3R A= [g'."g} @ a’l= «
1 1 l 1
@ |% 8 - A
5 12 ' 6 12
© [s8] o [-8 42
T 247 A/ X11-5001-34/40 Page 11/ 32
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[ 121!32?

1 1 1l 1
(A F ?] ® |11
6 12 6 12‘
4 8
4 8
©) [6 12] ) [-6 12]
42. 3Rk A= {_g g] 31‘113=[§ 2] M6A-5B=
; g —4
@ 7 4] ® ['7 54
| [—-17 - ks (17" -4
& |-ss -g] D) \xl-5s -54]
If A=-[_g 2] and B= [g g] then6 A 5B=
17 4 | 17—
@ s 54] (B) _1; 52]
AT i -
€ |-s5 -—6] (D) -ég -sj]
(2 2 |
43. ﬁﬂ: 3 f; _g_}?‘h A =
: 5]
(2 =8 - 2 3
A J2 2 -
@ 0 2/5} - B [‘% 2‘;%}
- ./2 I3 2'2/
(C) 2 J2 I - 5
[~2/5 0] 1) [2‘ J2 o}
24/A/XII-5001 -(34:«;}_] Ps,;,gegia--)-'mé
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ﬂ [121/327 ]
J2

. Jg -3 2 3
A 2 2 | _
(A "0 2/5 (B) [‘fg 2/3]
(C) —g. ,/22 D) [3 -2 2/5]
| ~2/8 0 ( 2 J2 0
44, AR 2A+B+X=0, &l A:[_é g]sn”g:[? —g];ﬁ X =
| 1 2] :
A |-7 -13) ® [} 3]
-1 =2] _1 =2
€@ -7 -13] (D) [ ; 13_,]

If 2A+B+X=0, where A:[—é 3] and .15:=|:31 ‘g] then X =

@ _--71 .—13_ | By % 1%]
T-1 -27 % oy [-1 -2

©r -7 —Q @ |7 13]
45. [x y]=[2x-1 9]=

A) x=3,y=9 B x=1,y=9

€ x=0,y=9 (D) x=3,y=4
10, éi‘—x-(sm?xp |

(A)  2sinx By sin2x

(C) cos2x (D) 2cosx

d
s a;(xs +cos2x )=

- (A)  sx*+ sinﬁx

§or  sx*-2sin2x

(B) 5x*+ cos2x

(D) x°+ 2sin2x

' 24 /A/XII-5001-(34/40) Page 13 / 32
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48. | sec”! x) =
1
(A) . ! B =
1— x2 x¥x? -1
© 1 B eseda.
1+x? . xvVx® -1
49, Ao ox\_
dx ta) =
( a*loga (B) a*logx
€) a* (D) loga
S0. —%log{cosx} =
(A) tan x By -tanx
(C) cotx (D).« ='cot x L
51 T x| LY dy\'_, dy -
~ 51. a®d =l 2| —y=ZL -
. xy[dx2)+x(dx) ydx oaﬁﬁﬁaﬂtw%
(A) Hife = 2, Urd = 1 - B wfR=2 9w
(€) =1, 9W@=2 (D) =fe =1,9m@=1
The order and degree of the differential equation:
[ ad%y ( dy
— |+ X -Y—===0 i
xy[ deJ i 0 is
W order = 2, degree = 1 (B) order = 2, degree = 2
(C) order=1,degree=2 (D) order = 1, degree = 1
dy .
52. IR FHIRWI 35 +2y = sinx F1 FIHEH o6 &
a) e B) e
(C} sz (D] e4x
—
24/A/XI1-5001-(34/40) Page 14/~
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The integr ating factor of the differential equation % +2y=8inx is

A €

B) e
| Jz} eQx :

[D] e4x
d
53, S IR §%=6’”‘” HTEA 8

3x

a) e+e¥=c

| B) e“+e’=c
(Cc e +el=c

(D) e+ eV=c
The sqlution of thé.differential equation -cdi—i-=ex *Y is
B) e rel=rc

(D) e*“+eY=c
ss. e ahwwr SY_Y 1

(B) ~y=cx

(C) y=xlog| x|+ cx (D) y=log| x|+ cx

The solution of differential equation .§—§=% e
(A)  y=log|x|+c B y=ox

(C)  y=xlog|x|+cx (D)

y=log| x|+ cx

55. Jfqel iRl %+2y=e3"' %7 GATHEH 9Tk ?
a) e (B) e**
C) e* (D) e**

The integrating factor of the differential equation %%+ 2y=e

1S
A) &3 _B) e~
C) & | (D) ¥

24/4/)(11-5001-[341«:1
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m Ty e b 1 T [ 12139,
S -3
56. (41 +37 +3k) . 61-4j+k)=
(A) 22 - Br 15
() 21 (D) 18
—)
S7. (i +3] —2K)x (-1+3k)=
T =3 b
AL97-7 +3% B) Qi+
_)
© -7 +3k D) i+j-3k
58. |—1}-—-:-;—;:)|=
a8y V3 . (B) 3
< V2 - (D) 2
- -
,59. J'.j:
(A) O yl
) -1 (D) P
- o
60. kxj =
. |
@a -j ®
© o ' D) k
61. Zx(3+3)+3x(3+;’)+;’x[§+g)=
(A) 1 B) 0
< - -1 (D) 3
- = -
62. i . (jxk)=
(A | B) O
© -1 1
——t
24 /A/XII-5001 -(34/40) Page 16/°
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'qﬁg—?+_?+23c+?ﬁ"" ; a
63. ~ TR a % faer ¥ d@ma v Wl o 3
T = - -
(A) A o, i+j +2k
V6 (B) Je -
N 2": Lo - -
L+ 2k i+ j+k
(€) 6 . (D) “é,
- = 5 &
if a= i+ j +2k » then the corresponding unit vector a in the

—
direction of a is

i I - '
(A) 1+ +k B _i’+__j'?_-l-2£
- - : - =5 =
| i+ J +2.lc i+ j +Kk
(&) 3 (D) 6

. ! .—; -3 - —
64. M 3i+j -2k M T+rT -3k wErw T g @A -
A -3 B -6 -
© -9 @) -1
lf3:+; Zk and l+lj -3k are pcrpendlcular to each other
then thr;: value of A = -

@ -3 B) -6
S m O) -1

65. fcotz xdx =
(A) cotx+x +k (B) —-cotx+x+k
(C) -cotx-x+k " (D) cotx-x+k

T
66. wiwit 27-37+2k M i+4j+5k & 09w w0

M} 30° - {B) 90°
(C] 45° (D} - 60° )
o — ‘ .
3 24 /A /XII-5001-(34/40) Page 17 / 32 °
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67.

[121_{32?
7 - = 7 -4 -

The angle between the vectors 21 -3 j+2k and i +4 j4+5% is
(A)  30° .
[C) 45¢° : {D) 60°
la+b|=|a-b|=
A |a|=|b| B all|b

- -
© alb D) la|=0

' - - A G
68. WRW 47-47 +7k WaARY i -2 +k FARTE

@ o (B) 19/9
(C) 9/19 - (D) 19

The projection of the vector ?-—2}' +_ig on the vector 4?—4}? +7]
is |

(A) o B) 19/9

(C) 9/19 (D) . 19

69.  Z=3x+5y W " 7H Wl f% =Y x +y <2, x20,y>0 2
A) 16 B) 15
© o | D) TIPS
The minimum value of Z=3x+5y subject 4 constraints
where x +y <2, x20, Y20 is
@A) 16 (B) 15

| < 0 (D) none of these

70.  Z=3x+ 2y A T vt s sy 3x+y<15, x20, y20 ?
(A) 30 B) 15 ?
(€ 10 (D) ¥ wd Tl

241511(11-5001-1341401 Page 18 /
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71.

72.

73.

[ 1217327 |
The maximum value of Z = 3 + 2y subject to the constraints where
3x+y<15, x20, y>0 is
(A) 30 (B) 15
() 10 (D) none of these

ﬂmf@aﬂ%ﬁiﬁm I m, n 3 l,m,n %lm@‘@mm
gt afe

Il _m_n I ,  m_n
Ak = Hpeemae B -—+—+—=0
Il m n (B) 11 m, n
B el
€y U+m "”12:112 -|~:'1r112+1_r112 (D) I +mmy +nn =0

‘The direction ratios of two I,straight lines are I, m, nand I, m;, n;.

The lines will be perpendicﬁlar to each other if

[ m n l m n
A S=—g=— @ (B) —+=—+—=0
L m n L oampy

© P+m®+n®=p +mf’+nf_‘{9/ Il +mm, +nn, =0
ﬁi&ﬁmﬁi‘@%ﬁiﬁﬁm 1,3,5 & @t W@ H -+ 8

111 1,3 5
A 535 B 7 Tas TEs
(D) ¥ @ HE T

J35° J35° 435
The direction ratios of a straight line are 1, 3, 5. Then its direction

cosines are
1 1 1 1 3 5
A 2. St B ——, —,
(A) 9’3’5 1)/ J35 357 J35
5 3 1
C e, == (D) none of these
© 335 J35 J35

T 3x—Sy+dz=11 % TAGL T HT THHO ]

(A) 3x-5y+4z=21 (B) 3x+5y+4z=25
(C) 3x+5y+4z=35 (D) Fﬁﬁﬂﬁiqﬁ
24 /A /XI11-5001 -34/40) Page 19 / 32
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74.

75.

76.

[ 121[327

The equation of the plane parallel to the plane 3x-Sy+4z=1] jq

(A) 3x-5y+4z=21 (B) 3x+5y+42z=25
(C) 3x+5y+4z=35 (D) none of these
aat 2x+y-2z=5 a3t 3x-6y—2z=7 ¥ g w1 Hor }
. E )
(A) -g- B 37
(C) cos!(4/21) (D) cos‘l(lﬁ_';/'ﬁl)
The angle between two planes 2xr+ y—-2z=5 and 3x-6y-2z=7is
r ")
® - 2 - ® % |
(C) cos7'(4/21) (Df cos !(16/61)
g (2,1,-1) ¥d0 x-2y+4z=9 A &
13 13421
@A) 37 . (B) SH
(C) % (D) . T | HI§ A

The distance of the plane x-2y+4z=9 from the pol
(2,1,-1)is

13 13421
A 37 ® =5
(C) % (D) none of these

IR A A 2x - 4y+32=5 I x+2Y+Az=12 FER T EH @ A =

A) -2 B) 2

© 3 . (D) R W

If two planes 2x-4y+3z=5 and x+2y+Az=12 are mutus”

perpendicular to each other then A =

(a) -2 B) 2
) 3 (D) none of these -~
24/A/XI1-5001-(34/40) Page 20 /°
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ﬂ [ 121/327 |

x-3_Y-9 z- . ;
77, 7 T a HE"J—E—@,tm.g.j%ziv};mmﬂm

2
(A) Sa+3b+2c=g (B) a_b_c
5 3 2
[C] Sa=3b= Q¢ (D) ﬂﬂﬂ@g?ﬁ
If the line X=3_-¥-4_2z- X_Y_z
b c is parallel to the line =55 then
(AL~ 5a+3b+2c~=0 a_b_c
B B) E=3=3
() Sa=3b=2c (D) none of these
X - X Y- z - .
78. R an a, = blyl m— 2 , a¢l a2x+b2y+czz+d=0 C L1
1
aa
a b c
(A) ‘&;’='5;=Ei,' (B) ~a,x +by+c,z=0

© agaq, +blbé +¢ey=0"" (D) T @ +rf T

If the line ) : is parallel to the plane
a,x+b,y+c,z+d=0, then
Ot L T R (B) ax+b -0

iy =C, 1 * +BY+CE=

(C) aa,+bb,+cC; =0 (D) none of these

79, ae|* 2|.|8 ?|@d x wwmd
18 x 18 6
W 6 By 6
__l© -6 . (D) O
24 /A/XII-5001-34/40) Page 21 / 32
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If € £ - 6 2 then x is equal to
18 x 18 6 |
A) 6 _ . (B) +6
| ) -6 D) o©
80. 'IJl—sian dx =
(A) sinx+cosx+c (B) sinx- cosx+c
(C) cosx-sinx+c (D) tanx-cotx+c
=
81. x  x+1 _
x-1 X
(A) 1 * 3 B) O
) 2 ' > -1 |
82. AR +WHMa*b=2a+b ARMNT AN (2+3)+42
(A) 30 | (B)- .20
(C) 18 (D} 15
If the operation * is defified asa* b=2a+ b, then [.2 ' 3)edis
@A)y 30 : B) 20
<18 B " i
1. E =2
83. 2 1 -3|=
15 4 -9
=i B B) 1
ig/o D) -1
3 -4 5
84. 1 1 -2 =
2 3 1
A 0
:c)) g B) 46
D) 1
——— L
%001'1341'40] | Page 22}

by:BSEBResult.In



ﬂ [121/327 ]
5 6
85. 5[7 8]=
| 25 30] ]
A) 25 30
2 Bl B [35 40|
5 6] -
O lss 40 o [3 3
86. f:A—B mmmﬂﬁ
Al Haes B f(A)=B
- (© f(A)>B (D) ¥ & g T
f: A—> B will be an onto function, if |
- flA)cB (B) f(A)=B
© f (A}DB ' (D) None of these
87. _A=[aﬁ]m,m Eaﬁ mtqﬁ
{A) m.='n [B] m<n
€ m>n D) & Hig 7
A-=[a§ lnxn iS @ square matrix if
(A .m=n B) m<n
© m>n (D) none of these
=3
88, [ 5] [1 6 -4] =
2
- [-3 -18 12] = -3 -18
-20 (B) 2 12 -8
W g ?g -8 } | 5 30 -20
r _201- '3 18 12
() _2 _?2 12 (D) [5 30 20]
2 12 -8] 2 12 8
~ 34 /A/X11-5001-(34/40)
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1 O
= ; O 1
0 1] (B) [ ]
BT o] 0 1
"0 57 | 1 0]
0 5 D
< 1s o B o 1
90. R A=[__~'g -:g] @ adjoint A =
"2 5] s [2 3]
GV L &+ (B) 1 5] x5
. - - . ; "2 1"
© |3 3| — @ |5 3
If A= [_? g] then adjmntA = _
'1 ! - -
(A) [? g : (B) f g
1 3] ray 17
(©) [2 5] o |33
91. %lqg[secx+tanx} =
1 .
@) Secttanx B} secx
(C) tanx (D)  seex+tanx
92. %( sec” x + cosec”lx) =
A 1 By o
(CJ 2 {D) =
, l1-cosx dy
23. !lﬁy tan" [ sin x ]m‘glx'i’
A 1 B) -1
1 |
@ 2z © -3 -
24/A/ XII-5001-(34/40) | Page 24 /

by:BSEBResult.In



ﬂ [121/327 |

If =tan“1(1‘"cnsx
Y __;1?1-5‘) then dy
: dx

A 1
1 B) -1
< = '
2 1
(D) 5
94." X =ASCCO, = biay g Y.
dx
b i
A -
* asecﬁ (B) %coscce'
' b
© geots o) L

' .r‘\'If_x_= a sec 0, y::. btan ¢ then %g_

b . :
s @) Leoseco :
C) = b
{ ) acotﬁ_ € (D) =
95. "ﬁ y=1l sihx+;; sinx+1/ sinx+... co dh ?h%=
A) N Sinx g cosx o
(4) 2y -1 | . B ==
c) gosx | D 1
© X LS
. . - N— )
If y=JSinx+J—sTinx+ﬁ1nx-i-_...tow then E%=
@A sinx - (@) Cosx
W 2y -1 : y-1
' 1
(C LOosX (D) —
] 2y-1 2y -1
T ——
24 /A/XII-5001-(34/40) Page 25 / 32
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2
96. TR y=x20 A .El__g..=
dx
(A) '8 (B) 20x'°
19
(©) 380x'® L
2
If y=x?° then 2 e =
dx _ ;
(A)  x!8 (B) 20x'°
(C) 380x'® D) x°
97. I,I l+cos2x dx =
(A) 2 cosx+c (B) V2 sinx+c
(C) % +e (D) W2 s8inX +¢
X o 2
o8. [loBXg4, -
x
A) %(lmgx}2 +c (B) --;-{logx]2+c
2 B a
(€) x2~+ L (D) —? + c
cosJx
99, dx =
-
() 2sindx +c (B) sindx+c
(C) cosvx+c (D) 2cosvx +¢
100. IJcosx . 8inxdx= .
2 : F
(A) i(coax)ii{'? +e (B) . -—%(coax]sm we
(Cl {CQ"xlalg + C (D' ? .—(008 x’3}'2 +0
24/A/XI11-5001-(34740) Page 26

- by:BSEBResult.In



E [121/327 |

: @Y - ¥ / SECTION - B
s #HEI Y¥ / Short Answer Type Questions
v e 1 30 TH &g I7¥r &) gt & fraft 15 7yt & avw &1 9w AT

*ﬁ(’zm%?f 15 x2 =30

g:::tmr; :::_:; 1 to 30 are Short Answer Type. Answer any 15 questions.
T:E on-carries 2 rr;arks, bsebresult.in 15x2 =30

1. =sin( ar Qv
If y=sin(xy) then find g_fi,

; . X

2} AT B Jlx+2)? dx. 2
Integrate : j{x+2)2 dx .

3. P(AUB) ¥@ fifmafk 2P(4)=P(B)=1% 3R Bla/B)=Z. 2
Evaluate P(AU B) if 2PlA]=P[B]=—i§§ and P(A/B) =-§-,

4, FRg= & 4(cot”'3+cot2) = _ 2
Prove that 4(cot™! 3+cot2)=x. |

S. gt fw ta.ri‘lx+tan"1y=tan_11x—-+%. ' .2
Prove that tan ' x+tan™ ;,,.r::tanh1 1x+y ]

. - Xy

6 AR y=ysinx’ ﬂ}%mﬁ| . -2
Find g—::-':- if y:,f sinx” . |

7, fog 3R gor F AR AR £(x)=8x° W g(x) =x'/° & 2
Find.fﬂg and gﬂflf f{x]:SxSand g[x} =x1f3‘

; - = L |
8. ®RWl 57+3 +4k 3 6i-8) —k % &= F1 HI0 710 H 2

-

i P R, - -
Find the angle between the vectors 5i+3 j +4k and 6i-8 j —k.
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»10.

Ll

12.

13

14.

9. wftremiem ¢t Z2=20x+3y, Y% 3x+2y<210, x20, y20. 2

Maximize Z=20x+3y , subject to 3x+2ys210,

. 29y_
S dx 2%V

.24y
Solve : x T Q;y‘

1 1 1 .
RF |a b c | F AR WA R
a® b '
1. B &
Evaluate the determinant{a b c|.
3 b3 3

a c

3 =4 =
‘lﬁA-—*[-% 3

2 =2 -4 3
If A={-1 3 4|, showthat A“=A.
1 =23

ﬂﬁ.xmsy=sin{x+y) a %—% =)

d
If xcosy=sin(x+y), find ExE

-1_2X _ %7 sin™
L T 1+x

1 2x

Differentiate tan" 5 With respect to sin-

1-x

d
aR x={1+17, y={1-£* @ SY frerdt)
2 dig-
It x=y1+83, y=J1-t then find S¥.

3],ama&f“2=a.

2X_ ¥ WRY T B

{ 1211’3273

xZO: yZO-

2xX
1+x2

24 /A X11-5001 -(34/40)
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_— 1% d
6 TR oy=y '?"}f—d-x“iﬁﬂﬁ} 2
If y =x5i“"‘, find 5’2_
x/2 S - dx
17 X
. C 5 ﬂ?ﬂﬁ 2
E[ 1+Jtanx ) l
_ A/2
Find the value of I dx :
: o l+vtanx _
a
8. IJa2-x2 dx ¥ 7R R 2
0
a
Find the value of _Ha2 ~x? dx.
_ 0
19. @&t x-2y+2z=6 AR 3x-6y+62=2%ﬁ?ﬁ@$ﬂﬂﬁl 2
Find the distance between the planes x-2y+2z=6 and
3x-6y+6z=2, -
20. 3§ @@ ¥ THHU WA W NmE x y o z FE W sia-EvE maw:
2,33R -4 % 2
Find the equation of 'the plane whose intercepts on the axes of
X Y, z are respectively 2, 3 and - 4.
21 pwmmﬁwm I-—lzy"2=2+17 aﬂ.( x+4=3+9=z_]_
o 2 3 P 2 2 2
T T B 2
Find the value of p so that the lines x2—1=y:—3-2=z-;17 and
x;4=y;g=zz_larcmutuauyperpendicm. '
22.  [cos® x.sinxdx H1 FHEH R 2
Integrate ICDSS x.sinxdx.
. B _
23. J'xz‘ldxa;ramﬂﬁx - 9
x“+4

2
x<-1
Integrate "x2+4 dx.
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29.

29.

30.

[121/327)
Fﬁ ﬁ 3 —(13:3“:41" . 2
Solve : cdi_y_*e
Pt v dem ¥ forg wres I L 2
x. 0 1 2 3
l R
p. /8 | 3/8 3/8 1/8
] T —
Find the mean for the following probability distribution : .
X 0 1 2 3
p, 1/8 3/8 3/8 1/8

- - .
ﬂ%§=?—7+¥wz:_2:+; +3K @ | @ + b [HAH I K|

2
- - = =9 =) - -
If a=i-j+k and b= 2i+j +3k then find the value of
=
| a + b | . & ,
- - . o o’
afewr 3i-4j +12k 6 fem-=and et 2
- - . - ) _, -.-’ ._’
Find the direction cosines of the vector 3i -4 j +12k.
A/2 |
_[xcosxdx'ﬂﬂmﬁﬁﬁl 2
3 -
A2
Find the value of _[xcos-xdx.
i
jmnSxdxaﬂammaqaﬁl 9

Integrate j'sin3 xdx. ‘
[ dx T THHET HY| )
Jx+1+3x+2 .
' dx
Integrate .
g IJx+1+3x+2

24 /A/X11-500 1 <a4740 Page 30 2
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et sy 99 / Long Answer 'rypa Questions

mmalﬁssﬁéwﬁqmilﬁﬁﬁw4mﬁ$m%tm%
o 5 3w fraife ¥ 4x5=20

Question Nos. 31 to 38 are Long Answer Type questions. Answer any

4 questions. Each quest:on carries 5 marks. 4x5=20
3 fag ﬁ % sin' 2 il 1101 =
X n’ = +sin 13+sm Rk
Prove that -14 1S -116_1m
ve that sin z +sin 13+sm A
n/2
32. WH IR : [logcosx dx. "
- C' |
r/2

Evaluate : _[logc’:osx dx.

33. TAR : {1+x2]%+y=tan‘1x. - | S
~ Solve : (1+x ] +y tan™ x.
34, %yc- fere, 99 (siny)* =(cosx)V. . | o 5

- Find %—, when (siny)* =(cosx)¥.

l+a 1 1 ;
35. WRRH AR EE A [ 1 1+b 1 [ | 5
' \ 1 1 1+e¢
o l+4a 1 1
Evaluate the determinant | 1 1+b 1
1 1 l+c¢|
5 = Lo B - *

-‘3/6/ AR : (i -3 ) +4k). (21-J)><(J+k)]. 5

- = =3 o M -+ -
Evaluate: (i -3Jj +4k). [ (21-j)x(j+k)].

Page 31 / 32
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37, EAdEm W Z=2x+y

Jafs Sx+10y <]0 , x+y21,y£ 4,x20,y=20. - | S
Minimize Z=2x+Y, | |

subject to S5x+10y <50 , x+y21,y< 4 ,.x>'0 y20.

38 amﬁwmﬁﬁm%wz}mwﬁ mmahgraﬁﬁw
.‘ mﬁmt? S | E

In four throﬁ*g, with a pair of dice what ‘is the probability of
occurrence of doublets twice at least ?

fagre a1 A dfda @afl rareprdl,

ST G, Ueal U7, ,usfade
BIs,

mm%ﬁmﬁaﬁ
Uz UTet & fAE...

BSEBResult.In
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